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QUESTION 1

Given the code fragment:

BinaryOperator<String> operator =_{3j/,§"13fl, s2) =-> sl.concat(sZ):
JLring sen = gwords.sLream() “'?
.reduce (“Word: “, operampt):;

System.out.printin(sesn); ¢

-

List<String> gwords = A:ras.rs.asl.ist;ﬁﬁ’hy *, ™what ", "when ");

What is the result?

A. Word: why what when

B. Words: why Word: Why what Word: why what when
C. Word: why Word: what Word: when

D. Compilation fails.

Correct Answer: A

QUESTION 2

Given the code fragment:

clasa Test {
public static void main(String[lgsrgs) {
List<Integer> nums = Arx ;;f}‘ﬁ'sLi:itll, 2. 3+ 4 5
System.out.println {dcﬂgg;;hhms} )3
publiec statie int dnStﬁ%ﬁ‘f&t{Inteqer} li=t) {
J//1line nl &

e
J. e _.:_'_-;;:z_':_ 3

e B

} .

=3

Which code fragment, when inserted at line n1, enables the code to print the sum of all the elements in the nums list?
A. return list.stream().mapTolnt(i -> i + i).sum();
B. return list.stream().map(i -> i + i).sum();

C. return list.stream().map(i -> i).sum();

170-813 PDF Dumps | 1Z0-813 VCE Dumps | 120-813 Exam Questions 216


https://www.pass4itsure.com/1z0-813.html
https://www.pass4itsure.com/1z0-813.html
https://www.pass4itsure.com/1z0-813.html

. VCE & PDF https://www.pass4itsure.com/1z0-813.html
E 2022 Latest passditsure 120-813 PDF and VCE dumps Download

PassditSure.com

D. return list.stream().mapTolnt(i -> i).sum();
Correct Answer: D

Incorrect Answers:

A: Gives 30, not the correct sum of 15.

B: Does not compile.

C: Does not compile.

QUESTION 3

In 2015. daylight saving time in New York, USA, begins on March 8th at 2:00 AM. As a result, 2:00 AM becomes 3:00
AM.

Given the code fragment:

ZoneId zone = Zoneld,of ("America/New York): :
ZonedlateTinme QL = Zane-iﬂatefime.ofilocalE-atE_;cif 2015, 3, 8}, Locallime.of(1l, 0}, Zone):
ZonedbeteTime dtZ = dt.plusHours(i): 4
Systen.cut.princ ijateIim&Fcrma::E:.ufPa;;:ﬁ'rn ("H:zm - ™) .formaz {dc2) )
Systen.cut.println({“difference: " + Cﬁ*ﬁhaUni:.HDL’F‘.s.bewe&n(dr,,. dc2) )

Which is the result?

A. 2:00

Correct Answer: D

Reference: http://docs.oracle.com/javase/8/docs/api/javal/time/Zoneld.html

QUESTION 4

Given the code fragment:
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final List<String> list = new CopyvOnWriteArrayList<>();

final AtomicInteger ai = new AtomicInteger {0):

final CyclicBarrier barrier = new CyclicBarrier ({2, new Runnable(} {
public void run{) { System.out. prlntlﬂ{llst}r 1

Fhs

Bunnable r = new BRunnable() {
public void run() { o
i el |

Thread.sleep (1000 * a*.lnerementhndGet{J}
list.add {"™X") ; -
barrier. awalt{],\-_
1 ©atch {Exceptlon ex} {
H

new Thread(r).start(d:
new Tﬂread{r}.startt};
new Thread(r).start{);
new Thread(r).start();

What is the result?
A. [, X] [X, X, X, X]

B. [X] [X, X] [X, X, X]

C. [X] [, X] [%, X, X] [X, X, X, X]
D. [x, X]

Correct Answer: A

QUESTION 5

Given: and the code fragment:

class Student {
String coarse, hame, city; _
public Stuadent (String name, String £otrse, String city) |
this.course = course; this.name = name; this.city = city;
} e
public String toString() {
returna course + "™ +;Qémé s -l v
public String getCcursé&f{¥ { return course; }
public String getMame() { return name; }
public String getCitW () { return city: }
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List<Student> stds = Arrays.aslList |
new Student ("Jessy", "Java ME“, "Chicago™) .,
new Student ("Helen", "JavasEE"™, " Houston"),
new Student ("Mark"™, "JggﬁﬁME", ehicagn™)):
stds.stream() i
.collect (CollectorsgagroupingBy (Student: :getCourse))
.forkEach({src, res}Y —-> System.out.println(src)):

What is the result?

A. [Java EE:Helen:Houston] [Java ME:Jessy:Chicago, Java ME: Mark:Chicago]
B. Java EE Java ME

C. [Java ME:Jessy:Chicago, Java ME:Mark:Chicago] [Java EE:Helen:Houston]
D. A compilation error occurs.

Correct Answer: B

Grouping on course. Print each course.
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